Hasslovs BK

Partavling HCP 24 brickor 2021-10-21

SCRATCH

Partavling, 12 bord, 23 par. Antal brickor: 24. Medel: 240.4. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb
1 10 3284 68.41 Peter Ernmark - Anders Olsson 66827 4950 Vastra Bjare BK
2 13 3020 62.92 Jens Ahslund - Jonny Aronsson 88230 88229 Hasslovs BK
3 9 292.4 60.91 Ulla Skarberg - Anders Hantoft 15888 82097 Laholms BK
4 6 286.9 59.77 Tom Sandquist - Monica Sandquist 33275 33276 Laholms BK
5 21 267.0 55.63 Maria Ohlsson - Jan Jonsson 87599 8317 Laholms BK
6 1 260.7 54.32 Solveig Tageman - Sven-Erik Persson 5532 13405 Hasslovs BK - Laholms BK
7 3 2585 53.86 Anders Forsander - Urban Carlsson 43890 88235 Hasslovs BK
8 4 257.5 53.64 Ib Jensen - Jan Gustavsson 40257 35158 Laholms BK - Hasslovs BK
9 23 256.0 53.33 Lena Boivie - Carin Bernsfelt 18497 12236 Bastad BK - Vastra Bjare BK
10 17 252.0 5250 Inga-Maj Askfelt - Eva Ekholm 15376 16236 Munka Ljungby BS - Angelholms BS
11 2 237.8 49.55 Rolf Nilsson - Matts Idoffsson 59008 61185 Laholms BK
12 24 236.0 49.17 Adler Sjunnesson - Ulrik Starck 46150 46148 Hasslovs BK
13 7 2345 48.86 Margit Bauer - Gull-Britt Johansson 39509 89306 Laholms BK - Hassldvs BK
14 16 230.0 47.92 Sten-Ake Skoglund - Lena Skoglund 13380 8594 Laholms BK
15 19 225.0 46.88 Agneta Edbergh - Kerstin Schlyter-Sunnerholm 12217 43852 Vastra Bjare BK
16 20 224.0 46.67 Leif Malvefors - Gunnar Alexandersson 24241 8881 Hasslovs BK - Laholms BK
17 12 218.2 45.45 Bengt Johansson - Kenneth Augustsson 91542 92791 Laholms BK
18 18 215.0 44.79 Ulla-Britt Adamsson - Barbro Westermark 26181 48447 Vastra Bjare BK
19 8 213.8 44.55 Harald Nilsson - Boris Larsson 43856 12220 Vastra Bjare BK
20 11 210.5 43.86 Solveig Svensson - Birgitta Philipson 91544 91953 Laholms BK
21 5 183.3 38.18 Karin Lundstrém - Roland Hansson 28736 61674 Bastad BK - Hasslovs BK
22 15 181.0 37.71 Madeleine Muschkin-Harrison - Lilo Horstadius 88239 78938 Vastra Bjare BK
23 14 158.0 32.92 Benny Nilsson - Bengt-Géran Einarsson 48766 48761 Laholms BK
1 4942 2 « Kn8 3 41062
Nord v 1082 Ost v EKD643 Syd v K95
Ingen ¢ DKn10 NS ¢32 ov + D106532
#K953 #1086 &E
4 KDKn76 4E3 4 E762 oK 4 KKn985 443
v D6 v EK973 v72 vKn1098 vED v 1076
4 7653 + K82 ¢+ DKn107 ¢ EK865 +97 + KKn84
*64 #1082 *KD7 #EKn9 »KD65 10874
41085 4 D109543 4 ED7
v Kn54 v5 v Kn8432
¢ E94 ¢+ 94 ¢ E
#EDKn7 #5432 #Kn932
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 20 INO-1 *J 50 200 00|12 24 6NO-2 aT 100 200 00| 2 14 3vS+1 +9 170 20.0 0.0
4 19 INO= *7 90 180 20| 6 23 3¢ O+2 v¥5 -150 150 50| 1 24 3v S= &5 140 140 6.0
7 14 24 V= +Q -110 16.0 4.0| 9 18 3¢ O+2 v¥5 -150 150 50| 8 15 3v S= 48 140 140 6.0
9 18 INO+1 &7 -120 13.0 7.0|10 20 3¢ O+2 v¥5 -150 150 5.0|10 19 3v S= *K 140 140 6.0
16 8 INO+1 #Q -120 13.0 7.0|15 2 4¢ O+1 v¥5 -150 150 50|11 21 2v S+1  #Q 140 140 6.0
521 INO+2 &7 -150 9.0 110 1 13 3NO+1 ¥5 -430 6.0 14.0|16 3 3v S= *Q 140 140 6.0
17 3 INO+2 &7 -150 9.0 11.0| 4 19 BNO+1 5 -430 6.0 14.0|13 7 2v S= »6 110 8.0 12.0
6 23 2v O+2 8 -170 50 15.0| 7 14 3NO+1 44 -430 6.0 14.0|{12 23 3v S-1 +9 -50 6.0 14.0
12 24 2v O+2 #A -170 50 15.0{16 8 3NO+1 5 -430 6.0 14.0| 5 20 3v S-2 *K -100 4.0 16.0
1 13 INO+3 T -180 20 18.0|17 3 3NV+1 vA -430 6.0 14017 9 2NS-3 48 -150 1.0 19.0
15 2 34DN-2 &A -300 0.0 200| 5 21 3NO+2 v¥5 -460 0.0 20.0|18 4 4v S-3 +9 -150 1.0 19.0
1 - 8.8 1 - 8.8 6 - 12.0
4 4982 5 a2 6 a-
Vast v K92 Nord v EKn32 Ost v KKn10874
Alla ¢+ EKD742 NS + D872 ov + E108543
#Kn #KKn62 *2
4 DKn1054 & EK763 4 Kn93 4 E1085 4Kn987 4 E65432
v D7 v E6G3 v K10 v D76 v92 v3
¢ Kn53 +8 ¢ EKn1095 ¢ 64 +76 ¢ KKn2
*E32 »K865 #743 #ED95 #EKDKn4 #1096
a- ~KD764 4KD10
vKn10854 v 9854 v ED65
+ 1096 + K3 +D9
#D10974 108 #8753
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
2 14 4e¢ N+1  &A 150 200 00| 1 23 INN+2 48 150 200 00| 2 13 5vDN+1 &A 750 20.0 0.0
10 19 264 O+2 T -170 16.0 40|17 4 2vy N+l 6 140 180 20|17 4 54D0O-2 vA 500 18.0 2.0
13 7 24 0+2 o7 -170  16.0 4.0| 3 15 3#0-2 40 100 16,0 40| 3 15 5v N+1 ¢2 480 150 5.0
16 3 34 V+l K -170 160 4.0|19 5 14 0-1 v5 50 140 6.0|14 8 4y N+2 &A 480 150 5.0
17 9 44 O= *T -620 11.0 9.0| 6 21 INV= v2 90 12.0 80| 6 21 5v S= *K 450 11.0 9.0
18 4 44 0O= *T -620 11.0 9.0| 9 16 2¢ V+1 a2 -110 100 10.0|19 5 4v S+1 &A 450 11.0 9.0
124 464 O+1 T -650 40 16.0|18 10 INV+1 v3 -120 80 12.0| 1 23 3y N+2 &T 200 7.0 13.0
5 20 464 O+1 T -650 40 16.0| 2 13 INV+2 *2 -150 50 15.0| 9 16 44DO-1 +¢Q 200 7.0 13.0
8 15 4v V+1  +A -650 40 16.0|11 20 INV+2 *2 -150 50 15.0| 7 24 44 O-1 +Q 100 3.0 17.0
11 21 44 O+1 T -650 40 16.0| 7 24 INN-3 »5 -300 1.0 19.0(18 10 44 O-1 vA 100 3.0 17.0
12 23 44 V+1  ¢A -650 40 16.0|14 8 2¢ N-3 v6 -300 1.0 190(11 20 24 O+1 ¢9 -140 0.0 20.0
6 - 12.0 12 - 9.1 12 - 9.1
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7 443 8 « D65 9 « E985
Syd v EKDKn Vast v K1093 Nord v Kn109
Alla +D3 Ingen ¢ 764 ov ¢ DKn82
#KD982 D97 107
& K7 & EDKn82 4 EK1032 #Kn987 a2 & K3
v 875 v103 v 764 v 82 vE8753 v D642
+ E8654 ¢ Knl1092 + E853 1092 +1075 ¢E6
&753 &#Kn6 LY &#KKn32 &#K965 #ED832
410965 LY « DKn10764
v 9642 v EDKn5 vK
¢ K7 + KDKn ¢ K943
»E104 #E10865 &#Kn4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
10 17 4v S+1 +5 650 200 0.0 4 16 4vy N= a] 420 190 10|20 12 3¢ V-3 a A 300 0.0
2 24 3NN+1 *J 630 18.0 20|10 17 4v N= LY:] 420 190 10| 2 23 24 S= &6 110 3.0
3 14 4v N= &J 620 150 50(20 6 3v N+1 s 170 160 40| 8 24 24 S= &K 110 3.0
4 16 4y N= a A 620 150 50| 3 14 44 V-3 v9 150 140 6.0| 3 13 34 S-1 &6 -50 8.0
7 23 3v S+2 *4 200 120 80| 2 24 3v S= s A 140 120 80| 5 17 34 S-1 &K -50 8.0
12 21 2v S+2 &K 170 8.0 12.0( 8 13 44 S= &K 130 10.0 10.0| 9 14 34 S-1 &K -50 8.0
15 9 3vS+1 &K 170 8.0 120 7 23 34 V-2 v3 100 7.0 13.0(11 18 44 S-2 vA -100 13.0
18 5 3v N+1 *J 170 80 12.0(18 5 34 V-2 &Q 100 70 13.0|19 6 44 S-2 vA -100 13.0
8 13 24 N +1 T 110 40 16012 21 4 S-1 s K -50 3.0 17.0| 4 15 34 0= &Q -110 16.0
19 11 INN= a2 920 20 180(15 9 44 S-1 &K -50 3.0 17.0(16 10 2v O +3 a] -200 18.0
20 6 14 O= v4 -80 0.0 20.0|19 11 54S-2 s A -100 0.0 200| 1 21 44DS-2 &6 -300 20.0
1 - 10.9 1 - 10.9 7 -
10 - 11 & Knl10743 12 & 743
Ost v73 Syd vED Vast v EKn1072
Alla ¢ EK9743 Ingen ¢ Kn32 NS 4 Kn952
&KKn872 &E54 &K
« D83 & E10952 4 KD65 #E9 #1085 & EKn
vEDKn864 v 102 vK743 vKn5 v9 v KD8543
¢ Kn + D105 +E6 + 1095 ¢+ E84 763
&ED6 #1054 &#K106 #DKn9832 &#DKn9743 %65
& KKn764 482 & KD962
v K95 v 109862 v6
+ 862 + KD874 + KD10
93 &7 &#E1082
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
121 3vV-2 *A 200 170 3.0|10 15 44D0O-4 +K 800 200 0.0 1 20 44 S= v9 620 0.0
9 14 4v V-2 +K 200 170 30| 4 14 3s4 V-4 *2 200 180 20| 6 18 24 S+3 v9 200 3.0
11 18 4v V-2 A 200 170 30| 1 20 3NV-3 a] 150 160 40|10 15 34 S+2 *A 200 3.0
20 12 4v V-2 +K 200 170 30| 3 24 3¢ S+1 v3 130 140 6.0| 9 13 34 S+1 v9 170 7.0
3 13 3v V-1 +K 100 11.0 9.0|17 11 3NV-2 a] 100 120 8.0|17 11 24 S+2 v9 170 7.0
4 15 4v V-1 A 100 11.0 90| 6 18 INV-1 LY 50 9.0 11.0(12 19 24 S+1 v9 140 10.0
19 6 3v V= *A -140 8.0 120 8 23 54 0-1 vT 50 9.0 110 3 24 3¢ N= &6 110 13.0
5 17 3v V+1 *A -170 6.0 14.0(21 7 INV= aT -90 6.0 14.0(21 7 3¢ N= &6 110 13.0
2 23 4¢ N-3 vT -300 30 170 5 16 3« V+1 a3 -130 40 16.0| 8 23 3aV-2 *J 100 16.0
16 10 3¢ N-3 v2 -300 3.0 170 9 13 1INV +4 a3 -210 20 180 4 14 44 S-2 v9 -200 19.0
8 24 4v V+1 *A -650 0.0 20.0|12 19 3NV +1 a7 -430 0.0 200| 5 16 34 S-2 v9 -200 19.0
7 - 9.8 - 2 99| - 2 9.9
13 & KKn743 14 & 543 15 & EKn753
Nord vE Ost v Kn108532 Syd v K97
Alla ¢ KKn103 Ingen ¢ E2 NS +10
&E63 &74 &#Kn1042
«D8 4 E109 4 EKn72 &KD86 #1094 46
vKKn1082 v D764 vE9 v K6 vKn84 vED105
+ D84 ¢ 765 + K8 + Kn107 + K8 ¢ DKn9632
#852 &KD10 &#EKD98 #Knl063 &#ED987 #53
4652 4109 & KD82
v 953 vD74 v 632
¢ E92 + D96543 ¢ E754
&#Kn974 &52 K6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res [¢]
9 24 34 N+1 &K 170 200 0.0 9 24 54 V+1 *A -420 19.0 10| 1 18 34 N= vT 140 3.0
1 19 1a N+2 v6 140 150 50|23 3 5&V+1 vlJ 420 190 10| 5 14 24 N+1 vT 140 3.0
6 17 1la N+2 &K 140 150 50| 1 19 3NV+2 v5 -460 140 6.0|11 15 24 N+1 &5 140 3.0
10 14 14 N+2 &T 140 150 5.0(10 14 4NV +1 vJ -460 140 6.0|20 2 24 N+1 &5 140 3.0
20 7 24 N+1 &K 140 150 50|11 16 3NO+2 +9 -460 140 6.0 7 19 24 N= +Q 110 10.0
18 12 14 N+1 v7 110 10.0 100| 4 13 46 V+2 *A -480 9.0 11.0(12 17 24 N= +Q 110 10.0
2 21 3vV-1 +3 100 8.0 12.0| 5 15 44 V+2 *A -480 9.0 11.0(24 4 24 N= +Q 110 10.0
5 15 INN= v6 90 6.0 14.0(18 12 3NO+3 +3 -490 6.0 140( 6 16 34 N-1 &5 -100 16.0
4 13 34 N-1 v6 -100 3.0 17.0| 2 21 6#V= *A -920 40 16021 8 34 N-1 +Q -100 16.0
23 3 44 N-1 &Q -100 30 17.0| 6 17 64 O= +5 -980 20 18.0(23 9 44 N-1 +Q -100 16.0
11 16 44 N-2 L JO) -200 0.0 200|20 7 BNV= *A -990 0.0 20.0|10 13 44 N-2 &5 -200 20.0
- 8 89| - 8 89| 3 -
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16 4982 17 « E865 18 « EKn98
Vast vKn7 Nord v EKn4 Ost v 105
ov + 863 Ingen + Kn96 NS ¢ 542
&EKKN76 D108 »K764
4KD1043 4Kné6 a42 4109 «D7532 &K4
v E52 v 86 vD1092 vK86 vD842 vKn973
¢ E7 + KD1092 ¢ K72 +D1084 + D10 + EKn86
#953 &D842 &#K763 #E542 &D3 #1085
4 E75 & KDKn73 4106
vKD10943 v 753 v EK6
¢ Kn54 ¢ E53 ¢ K973
10 #Kn9 &#EKn92
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
5 14 2vS= 7 110 160 40| 8 20 24 S= &6 110 190 10| 6 15 INS+2 a7 150 1.0
6 16 2v S= &Q 110 16.0 40|11 14 24 S= *2 110 190 10|13 5 2NS+1 a3 150 1.0
7 19 2v S= &K 110 160 40| 4 23 34 N-1 +8 -50 120 80| 1 17 2NS= v2 120 6.0
12 17 2v S= &K 110 160 40| 6 15 34 S-1 v9 -50 12.0 80|11 14 INS+1 v4 120 6.0
21 8 2v S= &9 110 160 40| 7 18 34 S-1 v9 -50 120 80|21 3 INS+1 a2 120 6.0
1 18 34 V-1 vJ 100 9.0 11.0(12 16 34 S-1 v2 -50 120 80| 4 23 INS= a2 90 12.0
11 15 34 V-1 vJ 100 9.0 11.0(24 10 34 N-1 aT -50 120 80| 8 20 INS= a2 90 12.0
20 2 2vS-1 *A -50 6.0 140( 2 19 44 S-2 a4 -100 40 16.0|12 16 INS= v2 90 12.0
24 4 3vS-2 *A -100 40 16.0|13 5 44 S-2 v2 -100 40 16.0| 7 18 3NS-1 a2 -100 17.0
23 9 24 V= vJ -110 20 18021 3 34 N-2 +8 -100 40 16.0|24 10 2NS-1 a2 -100 17.0
10 13 INO +1 vK -120 0.0 200| 1 17 44 S-3 v2 -150 0.0 200| 2 19 3NS-2 a2 -200 20.0
3 - 10.8 -9 122 - 9 12.2
19 & K9 20 & K82 21 & Kn3
Syd v 863 Vast v9 Nord v63
oV ¢ 6542 Alla + K109842 NS ¢+ EK54
&K764 K98 &E9643
4 EKN87 462 & 9654 & EK1064 498752
vD10974 vEK5 vKnl102 v KD65 v EKn2 v10
¢ KKn83 ¢ D107 ¢ EKn653 ¢7 + Kn1087
»- #DKn982 &D1054 #Kn82 D107
4 D10543 4 E1073 «D
v Kn2 v E8743 v KD98754
+E9 +D ¢ 632
#E1053 #Kn63 K5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
1 16 4v V-1 &K 100 190 1.0(13 11 2¢DV-4 v9 1100 200 00| 4 21 4v S= &K 620 2.0
12 15 3v V-1 &K 100 190 10| 2 18 INO-3 v3 300 180 20|23 5 4v S= A 620 2.0
13 11 3v V= &K -140 160 40| 3 20 2v O-2 +Q 200 150 50|24 11 4v S= aA 620 2.0
23 10 3NV= *4 -600 140 6.0 8 19 2v 0O-2 +Q 200 150 50| 3 19 3v S+1 a A 170 6.0
3 20 4v V= &K -620 8.0 12.0(12 15 24 S= vlJ 110 120 80| 6 13 3v S= &K 140 8.0
524 4v V= 49 -620 8.0 12.0| 1 16 INV-1 a2 100 9.0 110 9 20 44 V-1 v6 50 10.0
7 17 4v V= &6 -620 8.0 12.0(23 10 2vO-1 +Q 100 9.0 110 7 16 4v S-1 &K -100 13.0
9 21 4v V= &K -620 8.0 120 7 17 INV= *4 -90 6.0 140(14 12 4v S-1 A -100 13.0
14 6 4v V= 49 -620 80 120 5 24 2vS-1 4Q -100 3.0 17.0( 1 15 34 V= v6 -140 16.0
2 18 4v V+1 &K -650 1.0 190|114 6 3¢ N-1 46 -100 3.0 17.0( 2 17 34 V+1 v6 -170 18.0
8 19 4v V+1 & K -650 1.0 190| 9 21 INN-2 &5 -200 0.0 20.0| 8 18 5vDS-2 &A -500 20.0
- 4 107 - 4 10.7|10 -
22 « ED87 23 «732 24 sE
Ost v 9854 Syd v Kn932 Vast v 7652
oV ¢ K52 Alla ¢ K52 Ingen + 109654
96 &Kn97 SEK2
4 Kn652 493 & K965 484 4DKn93 & K64
v K32 v EDG6 vK4 v D1075 v Kn8 v EK94
+ D97 ¢+ E64 +E8 + DKNn10973 * K2 ¢ DKn73
#K108 #ED752 #K10862 #D &#DKn764 %103
4 K104 « EDKn10 4108752
v Knl107 v E86 vD103
+ Kn1083 ¢ 64 +E8
#Kn43 &E543 985
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res ing
24 11 24 O +2 *J -130 200 00| 4 20 2NV-1 v3 100 190 1.0(10 21 INN= vK 90 . 0.0
7 16 2N O +1 a4 -150 180 20| 8 17 3¢ O-1 v38 100 190 10|13 12 2NO-1 a7 50 . 2.0
1 15 2NO+2 +3 -180 15.0 50| 3 18 INS= &2 90 140 6.0| 9 19 INN-1 vA -50 . 4.0
14 12 2N O +2 +8 -180 150 50|15 7 INS= &2 90 140 6.0| 4 20 INN-2 LY -100 . 6.0
6 13 3NO = *J -600 10.0 10024 6 INS= &6 90 140 60| 1 14 24 V= &A -110 20 80
9 20 3NO = *J -600 10.0 100|16 2 24 S-1 *A -100 10.0 10.0|11 23 2NO= a7 -120 9.0 11.0
23 5 3NO= +8 -600 10.0 100| 1 14 2¢ O+1 &3 -110 50 150(16 2 INO+1 L Y] -120 9.0 11.0
2 17 3NO+1 +8 -630 3.0 17.0|] 9 19 2¢ V+1 v2 -110 50 15.0| 3 18 2NV +1 *4 -150 4.0 16.0
3 19 3NO+1 +8 -630 3.0 17.0|10 21 2¢ O+1 *4 -110 5.0 15.0| 8 17 2NO+1 a7 -150 40 16.0
4 21 3NO+1 *J -630 3.0 17.0|11 23 2¢ O+1 a A -110 50 15.0|15 7 2NO+1 a8 -150 40 16.0
8 18 3NO +1 +3 -630 3.0 17.0(13 12 2NO +1 vA -150 0.0 200(24 6 3NO+1 a2 -430 0.0 20.0
10 - 13.7 5 - 7.6 5 - 7.6
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